xano beton+lano volné+2xA = 2x5750+10522+2x140
= 22302 mm

LO2 = 2xano beton+lano voiné+2xA = 2x4086+18162+2x140 W
= 26614 mm

LO3 = 2xlano beton+lano volné+2xA = 2x3268+23340+2x140

= 30157 mm

L04 = 2xlano betontlano volné+2xA = 2x3414+24444+2x140 E E E

= 31552 mm
L05 = 2xiano beton+lano volné+2xA = 2x2821+25572+2x140
= 31494 mm

L06 = 2xiano beton+lano voiné+2xA = 2x2204+26708+2x140 KONCOVKA LANA FTL 020,

= 31396 mm LANA FLC 24

L07 = 2xlano beton+lano voiné+2xA = 2x1570+27860+2x140
= 31280 mm

LR

LO8 = 2xiano beton+lano volné+2xA = 2x1615+27562+2x140
= 31072 mm

L09 = 2xiano beton+lano volné+2xA = 2x1662+27215+2x140
= 30819 mm

\%
MﬁJ
=" 110 = 2xano beton+ano volin&+2xA = 2x1707+26812+2x140

pwJ = 30308 mm

—— _——» L1l = 2xlano betonHano volné+2xA = 2x1752+26344+2x140
@ = X128 mm
_——® L12= 2xano beton+lano voln&+2xA = 2x1802+25804+2x140
=5 = 28689 mm
L13 = 2xano beton+lano voiné+2xA = 2x1852+25188+2x140
= 28172 mm
—
— L14 = 2xano beton+lano volné+2xA = 2x1898+24491+2x140
. = 28568 mm
—
/})ﬁ//} L15 = 2xlano beton+lano voiné+2xA = 2x1947+23711+2x140
= 27886 mm

— L16 = 2xlano beton+lano volné+2xA = 2x1990+22842+2x140
% = 21102 mm
/ L17 = 2xdano beton+lano volné+2xA = 2x2040+21878+2x140
W = 26239 mm

/ L18 = 2xdano beton+lano voiné+2xA = 2x2089+20814+2x140
= = 25272 mm

L19 = 2xlano beton+lano voiné+2xA = 2x2144+19642+2x140
w = 24210 rm
L20 = 2xlano beton+lano volné+2xA = 2x2201+18352+2x140
0 = 23034 mm
g L21 = 2xlano beton+lano volné+2xA = 2x2264+16932+2x140
21740 mm
L22 = 2xiano beton+lano volné+2xA = 2x2334+15368+2x140
= 20316 mm

L23 = 2xlano beton+lano volné+2xA = 2x2405+13645+2x140

= 18734 mm

|

l /‘fjé e | wom

| —=» 124 = 2dano beton-+lano voiné+2xA = 2x2481+11746+2x140 POZ{ NAZEV - ROZMER  [USO| VVKRES - NORMA | WAT. o POZN.
I

o |
S s o 20 ‘. o g [T |
| L25 = 2xiano beton+lano volné+2xA = 2x2562+9637+2x140 | 73961 Trinec 747 66 Velké Polom
15041 mm * - 1:60
L26 = 2xlano beton+lano volné+2xA = 2x2664+7274+2x140

®EK
[y
I = 12882 mm woon
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